
T
ab

.5
.2

: R
és

um
é 

de
 q

ue
lq

ue
s 

ob
se

rv
at

io
ns

 s
ur

 le
s 

di
ffé

re
nc

es
 e

nt
re

 d
éc

en
ni

es
 (
∆5

0-
60

,
∆6

0-
70

,
∆7

0-
80

 e
t 
∆8

0-
90

) 
tir

ée
s 

de
s 

fic
he

s 
de

sc
rip

tiv
es

 d
es

 v
ar

ia
bl

es
  (

vo
ir 

A
nn

ex
e 

« 
B

d 
&

 V
ar

ia
bl

es
 »

).
 N

=9
36

 c
om

m
un

es
.

(A
)

(B
)

(C
)

(D
)

(E
)

(F
)

(G
)

(H
)

(I
)

(J
)

(K
)

(L
)

∆
50

-6
0,

∆
60

-7
0,

∆
70

-8
0 

et
 ∆

80
-9

0
U

ni
té

E
te

nd
ue

M
oy

en
ne

E
ca

rt
-t

yp
e

M
oy

. d
es

E
ca

rt
-t

yp
e

T
yp

e 
de

N
b 

va
le

ur
s 

nu
lle

s
V

al
. e

xt
r.

dr
oi

te
 a

ju
st

ée
 s

ur
le

s
m

oy
.

T
yp

e 
év

ol
.

M
éd

%
m

in
-m

ax
∆

50
-6

0
∆

60
-7

0
∆

70
-8

0
∆

80
-9

0
∆

50
-6

0
∆

60
-7

0
∆

70
-8

0
∆

80
-9

0
va

l.m
oy

.
m

oy
en

di
st

rib
ut

io
n

(∆
50

-6
0/
∆

60
-7

0/
∆

70
-8

0/
∆

80
-9

0)
te

nd
an

ce
pe

nt
e

R
2

de
 m

oy
.

M
oy

U
til

is
at

io
n 

du
 s

ol
T

er
re

s 
ou

ve
rt

es
 /S

C
(T

O
)

ha
/h

a
-0

.3
41

 ; 
0.

36
3

0.
00

3
0.

00
5

0.
01

3
0.

01
2

0.
02

9
0.

05
1

0.
03

2
0.

03
6

0.
00

8
0.

03
7

III
0/

0/
3/

8
+

,-
+

0.
00

4
0.

81
S

0
T

er
re

so
uv

er
te

s 
/S

A
U

 (
T

O
/S

A
U

)
ha

/h
a

-0
.7

92
 ;0

.6
47

0.
00

6
0.

03
1

0.
01

7
0.

02
8

0.
04

8
0.

09
1

0.
06

9
0.

08
1

0.
02

0
0.

07
2

III
1/

0/
2/

7
+

,-
(+

)
0.

00
5

0.
35

N
0

R
ou

te
s 

na
tio

na
le

s/
S

C
m

/k
m

2
-2

 ; 
1’

09
1

20
23

10
6

88
10

1
57

47
15

73
III

86
5/

80
5/

89
1/

90
9

+
-

6
0.

79
N

nu
l

R
ou

te
s 

na
tio

na
le

s/
S

A
U

m
/k

m
2

-1
’2

09
 ; 

12
’8

58
43

84
27

42
20

0
46

8
20

6
48

8
49

34
1

III
86

5/
79

7/
76

9/
75

1
+

(-
)

6
0.

10
N

nu
l

Z
on

es
 u

rb
ai

ne
s/

S
C

ar
es

/h
a

-7
.2

4 
; 2

5.
46

1.
83

1.
84

3.
18

1.
21

2.
96

2.
96

4.
86

1.
42

2.
01

3.
05

III
1/

1/
1/

62
+

,-
: d

50
-7

0 
(-

 : 
d5

0-
90

)
(-

0.
22

)
(0

.8
9)

--
 : 

d5
0-

60
R

ou
te

s 
(>

cl
3)

, r
ai

l/S
C

m
2/

ha
-2

42
 ; 

50
6

22
22

43
34

41
40

19
1

57
31

82
III

44
/4

4/
0/

29
6

+
,-

: d
50

-7
0 

(+
 : 

d5
0-

90
)

(+
4.

2)
(0

.9
)

-0
 : 

d5
0-

60
R

ou
te

s 
(>

cl
3)

, r
ai

l/S
A

U
m

2/
ha

-1
6’

89
8 

; 1
03

’6
69

12
4

29
4

38
9

55
7

69
1

1'
80

7
4'

46
4

5'
07

3
34

1
3'

00
9

III
0/

0/
0/

4
+

, (
-)

+
 : 

d5
0-

70
(+

14
2)

(0
.9

9)
--

 : 
d5

0-
60

S
ur

fa
ce

 a
gr

ic
ol

e 
ut

ile
/S

C
  (

S
A

U
)

ha
/h

a
-0

.5
91

 ; 
0.

94
3

-0
.0

07
-0

.0
29

0.
00

8
-0

.0
07

0.
04

4
0.

08
7

0.
04

6
0.

06
1

-0
.0

09
0.

06
0

III
0

+
,-

(+
)

0.
00

4
0.

09
S

+
-

F
or

êt
s/

S
C

ar
es

/h
a

-3
6.

09
 ; 

-1
7.

25
-0

.3
3

-0
.3

4
2.

03
-0

.0
8

1.
63

1.
75

4.
98

2.
16

0.
32

2.
63

III
26

/2
6/

2/
38

3
+

,-
: d

50
-7

0 
(+

 : 
d5

0-
90

)
(+

0.
09

)
(0

.8
7)

+
+

 : 
d5

0-
60

P
ra

tiq
ue

s 
ag

ric
ol

es
M

aï
s/

S
C

m
2/

ha
-2

’1
07

; 2
’4

51
7

14
6

99
1

48
19

2
16

2
13

5
63

13
4

III
31

9/
11

2/
61

/5
8

+
,-

(-
)

6
0.

01
n

-+
M

aï
s/

S
A

U
m

2/
ha

-2
’2

56
; 2

’7
36

14
27

4
17

1
7

80
31

2
26

8
23

8
11

7
22

4
III

31
1/

11
2/

58
/5

7
+

,-
(-

)
12

0.
02

n
-+

M
aï

s/
T

O
ar

es
/h

a
-1

00
; 1

00
1

12
5

0
4

16
14

13
4

12
III

31
1/

11
2/

58
/5

8
+

,-
(-

)
1

0.
06

n
-+

V
er

ge
r 

in
te

ns
if/

S
C

m
2/

ha
-1

’8
16

; 2
’6

59
3

33
-2

4
23

15
1

71
55

9
75

III
61

1/
34

7/
34

5/
34

5
+

,-
(-

)
3

0.
07

N
-+

!
V

er
ge

r 
in

te
ns

if/
S

A
U

m
2/

ha
-2

’0
69

; 5
’1

03
6

55
-3

10
36

25
0

10
6

10
0

17
12

3
III

61
1/

34
7/

34
5/

34
5

+
,-

(-
)

5
0.

05
N

-+
!

T
ai

lle
 d

es
 p

ar
ce

lle
s

ar
es

-1
’1

00
 ; 

1’
34

7
51

29
-3

8
10

1
11

5
10

5
98

21
10

5
III

13
/7

/0
/0

+
,-

-
16

0.
76

N
-+

T
ra

ct
eu

rs
/S

C
nb

/k
m

2
-2

7.
8 

; 2
7.

0
2.

2
2.

2
0.

6
-0

.1
1.

7
2.

7
1.

9
2.

1
1.

2
2.

1
III

4/
3/

56
/4

3
+

,-
-

0.
9

0.
91

N
-+

T
ra

ct
eu

rs
/S

A
U

nb
/k

m
2

-6
0.

9 
; 7

3.
5

4.
2

4.
8

0.
9

-0
.1

3.
3

4.
5

5.
6

5.
4

2.
4

4.
7

III
0

+
,-

-
1.

7
0.

81
N

-+
La

it 
(p

ro
du

ct
io

n 
pa

r 
va

ch
e)

K
g/

an
-7

8 
; 1

’1
11

-6
9

25
6

64
0

88
3

8
19

2
80

11
2

42
8

98
*

3/
0/

0/
0

+
,-

+
32

4
0.

99
S

0
V

ac
he

s 
la

iti
èr

es
/S

C
nb

/k
m

2
-1

31
 ; 

10
5

3
-4

-4
-5

10
12

8
8

-2
9

III
4/

4/
16

/2
6

+
,-

-
2

0.
73

U
-+

V
ac

he
s 

la
iti

èr
es

/S
A

U
nb

/k
m

2
-2

27
 ; 

14
1

5
-4

-7
-7

16
18

16
15

-3
16

III
0/

0/
7/

11
+

,-
-

5
0.

84
U

+
-

M
ai

n-
d'

œ
uv

re
/S

C
nb

/k
m

2
-5

4 
; 3

1
-2

-1
2

-1
-1

4
6

2
2

-4
3

III
10

/0
/6

2/
38

+
,-

(+
)

1
0.

10
S

+
-

M
ai

n-
d'

œ
uv

re
/S

A
U

nb
/k

m
2

-1
19

 ; 
13

3
-3

-2
0

-1
-3

7
8

6
4

-7
7

III
0/

0/
1/

4
+

,-
(+

)
2

0.
09

S
+

-
S

ub
ve

nt
io

ns
 A

F
/S

A
U

C
H

F
/h

a
-2

22
 ; 

11
7

-1
1

50
-1

1
-1

6
35

28
32

22
3

29
*

3/
3/

3/
3

+
,-

(-
)

8
0.

10
N

+
-

V
ac

he
s 

la
iti

èr
es

/(
S

A
U

-T
O

)
nb

/k
m

2
-3

’8
32

 ; 
2’

08
3

4
3

-6
-3

12
9

29
46

90
0

73
III

0/
0/

7/
11

+
,-

-
3

0.
67

N
+

-
U

rb
an

is
at

io
n

B
ât

im
en

ts
/S

C
nb

/k
m

2
-7

7 
; -

10
5

6
9

10
11

12
11

12
13

9
12

III
18

/4
/8

/1
6

+
,-

+
1

0.
95

n
0

P
op

ul
at

io
n 

/ S
A

U
nb

/k
m

2
-4

3’
63

9 
; 5

30
’4

59
40

1
74

7
58

9
1'

36
9

2'
89

9
6'

29
3

15
'8

90
19

'2
95

77
6

11
'0

94
III

0
+

,-
+

27
4

0.
71

N
--

!
V

oi
tu

re
s/

S
A

U
nb

/k
m

2
-4

’1
07

 ; 
26

5’
42

8
16

7
37

7
51

1
77

8
1'

17
7

2'
76

6
8'

78
9

9'
18

3
45

8
5'

47
9

III
0

+
, (

-)
+

19
7

0.
98

N
--

!
A

gg
lo

m
ér

at
io

n 
ta

ill
e

ha
-2

3’
72

7 
; 1

22
’1

15
1'

17
4

1'
57

6
3'

29
9

6'
32

2
4'

98
7

5'
46

1
12

'8
45

17
'1

83
3'

09
3

10
'1

19
bc

p 
zé

ro
s!

81
6/

78
5/

77
07

09
*

+
17

17
0.

90
U

nu
l

A
gg

lo
m

ér
at

io
n 

ap
pa

rt
en

an
ce

N
on

/o
ui

-1
 ; 

1
0.

04
1

0.
05

0
0.

03
3

0.
06

6
0.

19
7

0.
21

9
0.

21
7

0.
24

9
0.

04
8

0.
22

0
bc

p 
zé

ro
s!

89
8/

88
9/

89
1/

87
4

*
(+

)
0.

00
6

0.
29

N
P

op
ul

at
io

n/
S

C
nb

/k
m

2
-1

’2
88

 ; 
2’

82
8

51
57

11
31

15
7

16
8

10
7

72
38

12
6

III
3/

1/
5/

6
+

,-
(-

)
11

0.
42

N
-+

!
V

oi
tu

re
s/

S
C

nb
/k

m
2

-7
77

 ; 
1’

70
9

39
50

49
48

88
11

6
84

74
46

90
II;

 I 
: ∆

50
-6

0
0/

0/
0/

2
+

,-
(-

)
3

0.
39

n
-+

A
gg

lo
m

ér
at

io
n 

di
st

an
ce

m
-1

8’
22

0 
; 3

’1
19

-9
54

-1
'6

69
-3

93
-6

06
2'

05
7

3'
11

9
1'

44
0

1'
42

9
-9

06
2'

01
1

V
; I

V
 : 
∆

70
-8

0
55

8/
48

7/
61

8/
67

9
-

(+
)

23
2

0.
29

S
nu

l
C

lim
at

P
lu

ie
10

m
m

/a
n

-4
14

; 2
79

10
6

5
0

85
48

47
42

71
49

52
*

0
+

,-
(-

)
7

0.
03

U
-+

68
'


